FIRST CYCLE

CLASS IV MATHS
ASSIGNMENT NO - 11 TOPIC - SUBTRACTION

Q1) Solve :-

a) 10088—9999

b) 3185 + 4815 — 5348

c) 40001 — 18993

d) 79123 - 18775

e) 43hundreds from 7 thousands

Q2) fill in the boxes :-
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Q3)Put>,<,or=

a) 1091 - 1000 90+1
b) 5968 —200 [ ] 4000 + 1625
c) 736 +100 [ ] 936

Q4) Write the number which is

a) 9 less than greatest 5 digit number
b) 840 less than 400568

Q5) What must be added to 850050 to get the greatest 5 digit number

Q6) The population of a town is 128600 . If there are 64300 males . Find the
number of females in town

Q7) The sum of two number is 7030 . If one number is 6693.Find the other number



